HOMEOMORPHISMS RELATED TO THE POLYNOMIAL-LIKE ITERATIVE EQUATION ON $S^1 *$

Pingping Zhang^{1,†}, Weinian Li¹ and Weihong Sheng¹

Abstract In this paper we study all homeomorphisms on the unit circle \mathbb{S}^1 , whose lifts are C^0 solutions of a class of nonhomogeneous polynomial-like iterative equation. By an auxiliary equation, we present all those homeomorphisms and illustrate our results by examples.

Keywords Unit circle, homeomorphism, iterative equation, C^0 solution.

MSC(2010) 39B12, 37E05.

1. Introduction

Let X be a nonempty subset of \mathbb{R} , the *n*-th iterate of a self-mapping $f: X \to X$ is defined by $f^n(x) = f(f^{n-1}(x))$ and $f^0(x) = x$ for all $x \in X$ inductively. The origin of the iterative functional equation can be traced back to 1815, C. Babbage wrote iterative roots problem ([1]). As a weak version of embedding flows ([5]), iterative roots problem attracts many people in both dynamical systems and functional equations (e.g. [2,9,10,26,38]). It is known that the problem of iterative roots is to solve the elementary iterative equation

$$f^k(x) = F(x), \ \forall x \in X, \tag{1.1}$$

where $F: X \to X$ is a given map and $f: X \to X$ is an unknown map. Even for simple F(x), the equation (1.1) is not solved entirely ([14, 16]).

A more general form is the polynomial-like iterative equation

$$\lambda_n f^n(x) + \lambda_{n-1} f^{n-1}(x) + \dots + \lambda_1 f(x) = F(x), \ \forall x \in X,$$
(1.2)

an equation of the linear dependence of iterates, which becomes one of the most favorite objects for those people being interested in iterative equations. For nonlinear F, the existence, uniqueness and the stability of the C^0 solutions of Eq.(1.2) have been investigated ([13, 18, 34, 40]) and further results such as smooth ([32]), analyticity ([21]) and convexity ([6, 27, 37]) were also given. Higher dimensional cases

[†]the corresponding author. Email address:ppz.2005@163.com(P. Zhang)

¹School of Science, Binzhou University, Huanghe 5th Road, Binzhou 256603, China

^{*}The authors were supported by the Natural Science Foundation of Shandong Province (ZR2017MA019), Scientific Research Fund of Binzhou University (BZXYL1802) and Scientific Research Fund of Binzhou University (BZXYL1703).

and multivalued cases refer to the references [11, 25, 33] and [12, 28], respectively. Linear F ([20, 39]), i.e.,

$$f^{n}(x) + \lambda_{n-1}f^{n-1}(x) + \dots + \lambda_{1}f(x) + \lambda_{0}x = c, \quad \forall x \in X, \ c \in \mathbb{R},$$

even the homogeneous equation

$$f^{n}(x) + \lambda_{n-1}f^{n-1}(x) + \dots + \lambda_{1}f(x) + \lambda_{0}x = 0$$
(1.3)

is attractive, which has been investigated extensively (see [3,4,7,15,19,23,24,29,36]and some references therein). Substituting f(x) = rx ($r \in \mathbb{C}$) in (1.3), we get the characteristic equation

$$P(r) := r^{n} + \lambda_{n-1}r^{n-1} + \dots + \lambda_{1}r + \lambda_{0} = 0$$
(1.4)

and r is called characteristic root. Under restrictive conditions on (1.4), the mentioned references present the C^0 solutions of Eq.(1.3) by all those linear solutions f(x) = rx.

It is also interesting to investigate iterative equation on the unit circle \mathbb{S}^1 . As we all know that a homeomorphism $P: \mathbb{S}^1 \to \mathbb{S}^1$ has a unique lift $\varphi: \mathbb{R} \to \mathbb{R}$ such that

$$P(e^{i2\pi x}) = e^{i2\pi\varphi(x)} \tag{1.5}$$

and the lift φ satisfies

$$\varphi(x+1) = \varphi(x) + k, \quad k \in \{-1, 1\}.$$
(1.6)

We call P is orientation-preserving if k = 1 and orientation-reversing if k = -1. By lifting maps on \mathbb{S}^1 to the whole line \mathbb{R} , many results on iterative roots and iteration groups on \mathbb{S}^1 are given ([8, 17, 22, 30, 35]). In 2007, M. C. Zdun and W. Zhang ([31]) considered the C^0 solutions of the general iterative equation

$$\Phi(f(z), f^2(z), ..., f^n(z)) = F(z), \quad z \in \mathbb{S}^1$$
(1.7)

and proved the existence, uniqueness and stability in the set

$$H^0_1(\mathbb{S}^1,\mathbb{S}^1) = \{f \in C^0(\mathbb{S}^1,\mathbb{S}^1): \ f(\mathbb{S}^1) = \mathbb{S}^1 \ \text{homeomorphically and} \ f(\mathbf{1}) = \mathbf{1}\}$$

using fixed point theorems, where **1** indicates the point (1,0) in the complex plane \mathbb{C} . We say that Lemma 3.2 plays an important role in Ref. [31]. Let \tilde{F} and $\tilde{\Phi}$ be the lifts of F and Φ , respectively, this lemma shows that Eq.(1.7) is equivalent to

$$\tilde{\Phi}(\tilde{f}(x), \tilde{f}^2(x), ..., \tilde{f}^n(x)) = \tilde{F}(x), \ x \in \mathbb{R}$$

under the assumptions that $\tilde{\Phi}(0,...,0) = 0$ and $\tilde{F}(0) = 0$.

Removing the condition $\tilde{F}(0) = 0$, in this paper we consider all homeomorphisms $P : \mathbb{S}^1 \to \mathbb{S}^1$ whose lifts $\varphi : \mathbb{R} \to \mathbb{R}$ are C^0 solutions of the nonhomogeneous polynomial-like iterative equation

$$\varphi^n(x) + \lambda_{n-1}\varphi^{n-1}(x) + \dots + \lambda_1\varphi(x) + \lambda_0 x = c, \quad x \in \mathbb{R}.$$
 (1.8)

For this purpose, we study the C^0 solutions φ which satisfy Eq.(1.6) and Eq.(1.8) simultaneously, and then we construct all those homeomorphisms P by using (1.5).

2. Preliminaries

We first give a lemma used in the proofs of Lemma 2.2 and Lemma 2.3.

Lemma 2.1 (Lemma 3, [39]). Suppose that all roots $\gamma_j \neq 0$ (j = 1, 2, ..., n) of the characteristic equation (1.4) are real and none of them is equal to 1. Then Eq.(1.8) can be reduced to

$$g^{n}(x) + \lambda_{n-1}g^{n-1}(x) + \dots + \lambda_{1}g(x) + \lambda_{0}x = 0$$
(2.1)

by the substitution $g(x) = \varphi(x+\eta) - \eta$, where $\eta := c/\prod_{j=1}^{n}(1-\gamma_j)$, and vice versa.

Eq.(2.1) is called an auxiliary equation in the present paper. We say that Lemma 2.2 and Lemma 2.3 are important in the proof of theorems.

Lemma 2.2. Assume that none of roots of the characteristic equation (1.4) equals 0 and 1. If a homeomorphism $\varphi : \mathbb{R} \to \mathbb{R}$, satisfying $\varphi(x+1) = \varphi(x) + 1$, is a C^0 solution of Eq.(1.8), then $g : \mathbb{R} \to \mathbb{R}$ is a C^0 solution of Eq.(2.1), where $g(x) = \varphi(x + \eta_1 - 1) - \eta_1 + 1$ and $\eta_1 = (c + 1 + \sum_{j=0}^{n-1} \lambda_j) / \prod_{j=1}^n (1 - \gamma_j)$.

Proof. Note that

$$\varphi(x) = \varphi(x+1) - 1, \quad x \in \mathbb{R}.$$

By induction we have

$$\varphi^j(x) = \varphi^j(x+1) - 1 \quad \text{for all} \ j \in \mathbb{N}^0,$$

then Eq.(1.8) can be rewritten as

$$\varphi^{n}(x+1) + \lambda_{n-1}\varphi^{n-1}(x+1) + \dots + \lambda_{1}\varphi(x+1) + \lambda_{0}x = c + 1 + \sum_{j=1}^{n-1}\lambda_{j}.$$
 (2.2)

Let t := x + 1, then Eq.(2.2) is equivalent to the equation

(

$$\varphi^n(t) + \lambda_{n-1}\varphi^{n-1}(t) + \dots + \lambda_1\varphi(t) + \lambda_0 t = c + 1 + \sum_{j=0}^{n-1}\lambda_j.$$

Consider the auxiliary equation (2.1). From Lemma 2.1, using the translation transformation

$$g(t) := \varphi(t + \eta_1) - \eta_1,$$

we have

$$\varphi(t) = g(t - \eta_1) + \eta_1,$$

where

$$\eta_1 := (c+1+\sum_{i=0}^{n-1}\lambda_i)/\prod_{i=1}^n(1-\gamma_i).$$

Then

$$\varphi(x) = \varphi(x+1) - 1$$
$$= \varphi(t) - 1$$

$$= g(t - \eta_1) + \eta_1 - 1$$

= $g(x - \eta_1 + 1) + \eta_1 - 1$,

that is

$$g(x) = \varphi(x + \eta_1 - 1) - \eta_1 + 1.$$

This completes the proof.

Lemma 2.3. Assume that none of roots of the characteristic equation (1.4) equals 0 and 1. If a homeomorphism $\varphi : \mathbb{R} \to \mathbb{R}$, satisfying $\varphi(x+1) = \varphi(x) - 1$, is a C^0 solution of Eq.(1.8), then $g : \mathbb{R} \to \mathbb{R}$ is a C^0 solution of Eq.(2.1), where $g(x) = \varphi(x+\eta_2-1) - \eta_2 - 1$ and $\eta_2 := (c+(-1)^n + \sum_{j=0}^{n-1} (-1)^j \lambda_j) / \prod_{j=1}^n (1-\gamma_j).$

Proof. From the condition

$$\varphi(x+1) = \varphi(x) - 1, \ x \in \mathbb{R},$$

by induction we have

$$\begin{cases} \varphi^{j}(x) = \varphi^{j}(x+1) - 1, & j \text{ is even,} \\ \varphi^{j}(x) = \varphi^{j}(x+1) + 1, & j \text{ is odd.} \end{cases}$$
(2.3)

Using (2.3), we rewrite Eq.(1.8) as

$$\varphi^{n}(x+1) + \lambda_{n-1}\varphi^{n-1}(x+1) + \dots + \lambda_{1}\varphi(x+1) + \lambda_{0}x = c + (-1)^{n} + \sum_{j=1}^{n-1} (-1)^{j}\lambda_{j},$$

Let t := x + 1, we have

$$\varphi^{n}(t) + \lambda_{n-1}\varphi^{n-1}(t) + \dots + \lambda_{1}\varphi(t) + \lambda_{0}t = c + (-1)^{n} + \sum_{j=0}^{n-1} (-1)^{j}\lambda_{j}.$$

Consider the auxiliary equation (2.1). By Lemma 2.1, using the translation transformation $g(t) := \varphi(t + \eta_2) - \eta_2$,

$$\varphi(t) = g(t - \eta_2 - 1) + \eta_2,$$

where

$$\eta_2 := (c + (-1)^n + \sum_{j=0}^{n-1} (-1)^j \lambda_j) / \prod_{j=1}^n (1 - \gamma_j).$$

Then

$$\begin{split} \varphi(x) &= \varphi(x+1) + 1 \\ &= \varphi(t) + 1 \\ &= g(t-\eta_2) + \eta_2 + 1 \\ &= g(x-\eta_2+1) + \eta_2 + 1, \end{split}$$

thus,

$$g(x) = \varphi(x + \eta_2 - 1) - \eta_2 - 1.$$

This completes the proof.

3. Main results

Theorem 3.1. If the characteristic equation (1.4) has roots $1 < \gamma_1 < ... < \gamma_n$ (or $0 < \gamma_1 < ... < \gamma_n < 1$). Then every homeomorphism $P : \mathbb{S}^1 \to \mathbb{S}^1$, whose lift φ is a C^0 solution of Eq.(1.8), is orientation-preserving and can be constructed by using (1.5).

Proof. Under the condition that $1 < \gamma_1 < ... < \gamma_n$ (or $0 < \gamma_1 < ... < \gamma_n < 1$), each C^0 solution $g : \mathbb{R} \to \mathbb{R}$ of Eq.(2.1) is strictly increasing and can be constructed by using Theorem 2 in Ref. [29].

Let $\varphi(x) := g(x - \eta_1 + 1) + \eta_1 - 1$. If φ satisfies $\varphi(x + 1) = \varphi(x) + 1$, from Lemma 2.2 we find all orientation-preserving homeomorphisms $P : \mathbb{S}^1 \to \mathbb{S}^1$ by using $P(e^{i2\pi x}) = e^{i2\pi \varphi(x)}$. This completes the proof.

Theorem 3.2. If the characteristic equation (1.4) has roots $\gamma_1 < ... < \gamma_n < -1$ (or $-1 < \gamma_1 < ... < \gamma_n < 0$). Then every homeomorphism $P : \mathbb{S}^1 \to \mathbb{S}^1$, whose lift φ is a C^0 solution of Eq.(1.8), is orientation-reversing and can be constructed by using (1.5).

Proof. Under the condition that $\gamma_1 < ... < \gamma_n < -1$ (or $-1 < \gamma_1 < ... < \gamma_n < 0$), each C^0 solution $g : \mathbb{R} \to \mathbb{R}$ of Eq.(2.1) is orientation-reversing homeomorphism and can be constructed by using Theorem 4 in Ref. [29].

Let $\varphi(x) := g(x - \eta_2 + 1) + \eta_2 + 1$. If φ satisfies $\varphi(x + 1) = \varphi(x) - 1$, using Lemma 2.3 we get all orientation-reversing homeomorphisms $P : \mathbb{S}^1 \to \mathbb{S}^1$ by using $P(e^{i2\pi x}) = e^{i2\pi \varphi(x)}$. This completes the proof.

Theorem 3.3. If the characteristic equation (1.4) has roots $1 < -\gamma_1 < ... < -\gamma_p < \gamma_{p+1} < ... < \gamma_n$ (or $0 < -\gamma_1 < ... < -\gamma_p < \gamma_{p+1} < ... < \gamma_n < 1$). Then each homeomorphism $P : \mathbb{S}^1 \to \mathbb{S}^1$, whose lift φ is a C^0 solution of Eq.(1.8), can be constructed by using (1.5). There are two cases:

(i) $P: \mathbb{S}^1 \to \mathbb{S}^1$, whose lift φ is a C^0 solution of a lower equation with characteristic roots $\gamma_1, ..., \gamma_p$, is orientation-reversing.

(ii) $P : \mathbb{S}^1 \to \mathbb{S}^1$, whose lift φ is a C^0 solution of a lower equation with characteristic roots $\gamma_{p+1}, ..., \gamma_n$, is orientation-preserving.

Proof. (i) If $1 < -\gamma_1 < ... < -\gamma_p < \gamma_{p+1} < ... < \gamma_n$ and g is an orientationreversing homeomorphism of Eq.(2.1). By using the method provided in Theorem 4.1 of Ref. [36], we can remove the characteristic roots $\gamma_n, \gamma_{n-1}, ..., \gamma_{p+1}$ one after another and eventually change Eq.(2.1) into the p-th order iterative equation

$$g^{p}(x) + \lambda'_{p-1}g^{p-1}(x) + \dots + \lambda'_{1}g(x) + \lambda'_{0}x = 0.$$
(3.1)

Repeating the progress as that of Theorem 3.2, each C^0 solution $g: \mathbb{R} \to \mathbb{R}$ of Eq.(3.1) can be constructed. Now let $\varphi(x) := g(x - \eta_3 + 1) + \eta_3 + 1$, where

$$\eta_3 := (c + (-1)^p + \sum_{j=0}^{p-1} (-1)^j \lambda_j) / \prod_{j=1}^p (1 - \gamma_j).$$

If φ satisfies $\varphi(x+1) = \varphi(x) - 1$, by using Lemma 2.3 we find all those orientationreversing homeomorphisms $P : \mathbb{S}^1 \to \mathbb{S}^1$ by using $P(e^{i2\pi x}) = e^{i2\pi\varphi(x)}$.

(ii) If $1 < -\gamma_1 < ... < -\gamma_p < \gamma_{p+1} < ... < \gamma_n$ and g is an orientation-preserving homeomorphism of Eq.(2.1), we consider the dual equation of Eq.(2.1). By the

same method as that of the case (i), we remove $\gamma_1, \gamma_2, ..., \gamma_p$ in turn and eventually change the dual equation into the k-th order iterative equation (k := n - p)

$$g^{k}(x) + \lambda_{k-1}^{''} g^{k-1}(x) + \dots + \lambda_{1}^{''} g(x) + \lambda_{0}^{''} x = 0.$$
(3.2)

Repeating the process as that of Theorem 3.1, each C^0 solution $g: \mathbb{R} \to \mathbb{R}$ of Eq.(3.2) can be constructed. Now let $\varphi(x) := g(x - \eta_4 + 1) + \eta_4 - 1$, where

$$\eta_4 = (c+1 + \sum_{j=0}^{k-1} \lambda_j) / \prod_{j=1}^k (1-\gamma_j).$$

If φ satisfies $\varphi(x+1) = \varphi(x) + 1$, using Lemma 2.2 we find all those orientationreversing homeomorphisms $P : \mathbb{S}^1 \to \mathbb{S}^1$ by using $P(e^{i2\pi x}) = e^{i2\pi\varphi(x)}$. This completes the proof.

Example 3.1. Consider an iterative equation

$$\varphi^2(x) - \frac{5}{3}\varphi(x) - \frac{2}{3}x = 1.$$
(3.3)

Clearly, the characteristic equation

$$r^2(x) - \frac{5}{3}r - \frac{2}{3} = 0$$

has two roots $r_1 = -\frac{1}{3}$, $r_2 = 2$ satisfying

$$0 < \frac{1}{3} < 1 < 2,$$

and the auxiliary function

$$g^{2}(x) - \frac{5}{3}g(x) - \frac{2}{3}x = 0.$$

has two characteristic solutions $g_1(x) = 2x$ and $g_2(x) = -\frac{1}{3}x$. Let $\varphi_1(x) = g_1(x - \omega_1 + 1) + \omega_1 - 1$, where

$$\omega_1 = (c+1+\sum_{j=0}^1 \lambda_j) / \prod_{j=1}^2 (1-\gamma_j)$$
$$= (1+1-\frac{7}{3}) / (-\frac{4}{3})$$
$$= \frac{1}{4},$$

we get

$$\varphi_1(x) = 2x + \frac{3}{4}.$$

Let $\varphi_2(x) = g_2(x - \omega_2 + 1) + \omega_2 + 1$, in which

$$\omega_2 = (c + (-1)^2 + \sum_{j=0}^{1} (-1)^j \lambda_j) / \prod_{j=1}^{2} (1 - \gamma_j)$$

$$= (1+1+1)/(-\frac{4}{3})$$
$$= -\frac{9}{4},$$

we have

$$\varphi_2(x) = -\frac{1}{3}x - \frac{7}{3}.$$

Neither of $\varphi_1(x+1) = \varphi_1(x) + 1$ and $\varphi_2(x+1) = \varphi_2(x) - 1$ holds, by using Theorem 3.3 we have no homeomorphisms P whose lifts φ satisfy Eq.(3.3).

4. Further discussion

All characteristic roots having same sign are real and inside (or outside) the unit circle S^1 , Theorem 3.1 and Theorem 3.2 give all those homeomorphisms on unit circle with lifts being C^0 solutions of Eq.(1.8). Theorem 3.3 illustrate a case that characteristic roots have different sign. In fact, by using the C^0 solutions of the auxiliary equation (2.1) and Eq.(1.6), we can discuss the more general case. We give an example.

Example 4.1. Consider the 3rd-order iterative equation

$$\varphi^3(x) + \frac{1}{2}\varphi^2(x) - \frac{13}{2}\varphi(x) + 3x = 5.$$

Clearly, the characteristic equation

$$r^3 + \frac{1}{2}r^2 - \frac{13}{2}r + 3 = 0$$

has three real roots $r_1 = \frac{1}{2}$, $r_2 = 2$, $r_3 = -3$. So the auxiliary function

$$g^{3}(x) + \frac{1}{2}g^{2}(x) - \frac{13}{2}g(x) + 3x = 0$$
(4.1)

has three characteristic solutions $g_1(x) := \frac{1}{2}x$, $g_2(x) := 2x$, $g_3(x) := -3x$ and all C^0 solutions g of Eq.(4.1) can be constructed by using Theorem 4.2 in Ref. [36].

For convenience, here we only consider $\varphi_1, \varphi_2, \varphi_3$ yielded by g_1, g_2, g_3 , respectively. Let $\varphi_j(x) = g_j(x - \tau_1 + 1) + \tau_1 - 1$ (j = 1, 2), where

$$\tau_1 = (c+1+\sum_{j=0}^2 \lambda_j) / \prod_{j=1}^3 (1-\gamma_j)$$

= (5+1-3)/(-2)
= $-\frac{3}{2}$,

then

$$\varphi_1(x) = \frac{1}{2}x - \frac{5}{4}, \quad \varphi_2(x) = 2x + \frac{5}{2}.$$
 (4.2)

Let $\varphi_3(x) = g_3(x - \tau_2 + 1) + \tau_2 + 1$, where

$$\tau_2 = (c + (-1)^3 + \sum_{j=0}^2 (-1)^j \lambda_j) / \prod_{j=1}^3 (1 - \gamma_j)$$

= (5 - 1 + 10)/(-2)
= -7,

then

$$\varphi_3(x) = -3x - 30. \tag{4.3}$$

Neither (4.2) satisfy $\varphi(x+1) = \varphi(x) + 1$ nor (4.3) satisfies $\varphi(x+1) = \varphi(x) - 1$, so we have no orientation-preserving homeomorphisms P on unit circle with lift φ_1 or φ_2 , and have no orientation-reversing homeomorphism P on unit circle with lift φ_3 .

4

In Lemma 2.1-2.3, we assume that all roots $\gamma_j \neq 0$ (j = 1, 2, ..., n) of the characteristic equation (1.4) are real and none of them is equal to 1. The more general cases involving complex characteristic roots have no result, such as the characteristic equation (1.4) has simple roots

$$\gamma_1, \gamma_2, ..., \gamma_p \in \mathbb{R}, \ \gamma_{p+1}, ..., \gamma_s, \bar{\gamma}_{p+1}, ..., \bar{\gamma}_s \in \mathbb{C} \backslash \mathbb{R}, \ \gamma_{s+1}, \gamma_{s+2}, ..., \gamma_t \in \mathbb{R},$$

where s - p + t = n, which satisfy

$$0 < -\gamma_1 < \dots < -\gamma_p < |\gamma_{p+1}| < \dots < 1 < \dots < |\gamma_s| < \gamma_{s+1} < \dots < \gamma_t.$$
 (4.4)

How to construct the homeomorphism $P : \mathbb{S}^1 \to \mathbb{S}^1$ under condition (4.4), whose lift φ is a C^0 solution of Eq.(1.8), is unsolved.

Acknowledgements. The authors are grateful to the reviewers and the editor for their valuable suggestions and comments.

References

- Ch. Babbage, An essay towards the calculus of functions, Philos. Trans., 1815, 105, 389-423; Ch. Babbage, An essay towards the calculus of functions, II, Philos. Trans., 1816, 106, 179–256.
- [2] K. Baron and W. Jarczyk, *Recent results on functional equations in a single variable, perspectives and open problems*, Aequationes Math., 2001, 61, 1–48.
- [3] S. Draga and J. Morawiec, Reducing the polynomial-like iterative equations order and a generalized Zoltán Boros' problem, Aequationes Math., 2016, 90, 935–950.
- [4] S. Draga and J. Morawiec, On a Zoltán Boros problem connected with polynomial-like iterative equations, Nonlinear Analysis: Real World Applications, 2015, 26, 56–63.
- [5] Jr. M. K. Fort, The embedding of homeomorphisms in flows, Proc. Amer. Math. Soc., 1955, 6, 960–967.
- [6] X. Gong and W. Zhang, Convex solutions of the polynomial-like iterative equation in Banach spaces, Publ. Math. Debrecen, 2013, 82, 341–348.

- [7] W. Jarczyk, On an equation of linear iteration, Aequationes Math., 1996, 51, 303–310.
- [8] W. Jarczyk, Babbage equation on the circle, Publ. Math. Debrecen, 2003, 63, 389–400.
- [9] M. Kuczma, Functional Equations in a Single Variable, Monogr. Math., vol. 46, PWN, Warsaw, 1968.
- [10] M. Kuczma, B. Choczewski and R. Ger, Iterative Functional Equations, Encyclopedia Math. Appl., vol. 32, Cambridge University Press, Cambridge, 1990.
- [11] M. Kulczycki and J. Tabor, Iterative functional equations in the class of Lipschitz functions, Aequationes Math., 2002, 64, 24–33.
- [12] L. Li and W. Zhang, Construction of usc solutions for a multivalued iterative equation of order n, Aequationes Math., 2012, 62, 203–216.
- [13] L. Liu and X. Gong, The polynomial-like iterative equation for PM functions, Science China Mathematics, 2017, 60(8), 1503–1514.
- [14] L. Liu, W. Jarczyk, L. Li and W. Zhang, Iterative roots of piecewise monotonic functions of nonmonotonicity height not less than 2, Nonlinear Anal., 2012, 75, 286–303.
- [15] L. Liu and J. Matkowski, Iterative functional equations and means, J. Diff. Eqs. Appl., 2018, 24(5), 797–811.
- [16] L. Liu and W. Zhang, Non-monotonic iterative roots extended from characteristic intervals, J. Math. Anal. Appl., 2011, 378, 359–373.
- [17] J. Mai, Conditions of existence for N-th iterative roots of homeomorphisms on the circle, Acta. Math. Sinica, 1987, 30, 280–283. (in Chinese)
- [18] M. Malenica, On the solutions of the functional equation $\varphi(x) + \varphi^2(x) = F(x)$, Mat. Vesnik., 1982, 6(34), 301–305.
- [19] J. Matkowski and W. Zhang, Method of characteristic for functional equations in polynomial form, Acta Math. Sinica., 1997, 13(3), 421–432.
- [20] S. Nabeya, On the functional equation f(p + qx + rf(x)) = a + bx + cf(x), Aequationes Math., 1974, 11, 199–211.
- [21] J. Si, Existence of local analytic solutions of the iterative equation $\sum_{i=1}^{n} \lambda_i f^i(z) = F(z)$, Acta Math. Sinica, 1994, 37, 590–600. (in Chinese)
- [22] P. Solarz, On some iterative roots on the circle, Publ. Math. Debrecen, 2003, 63, 677–692.
- [23] W. Song and L. Li, Continuously decreasing solutions for a general iterative equation, Acta Math. Sci., 2018, 38(1), 177–186.
- [24] J. Tabor and J. Tabor, On a linear iterative equation, Results Math., 1995, 27, 412–421.
- [25] J. Tabor and M. Zoldak, Iterative equations in Banach spaces, J. Math. Anal. Appl., 2004, 299, 651–662.
- [26] Gy. Targonski, Topics in Iteration Theory, Vandenhoeck and Ruprecht, Göttingen, 1981.
- [27] T. Trif, Convex solutions to polynomial-like iterative equations on open intervals, Aequationes Math., 2010, 79, 315–325.

- [28] B. Xu, K. Nikodem and W. Zhang, On a multivalued iterative equation of order n, J. Convex Anal., 2011, 18, 673–686.
- [29] D. Yang and W. Zhang, Characteristic solutions of polynomial-like iterative equations, Aequationes Math., 2004, 67, 80–105.
- [30] M. C. Zdun, On iterative roots of homeomorphisms of the circle, Bull. Polish Acad. Sci., 2000, 48, 203–213.
- [31] M. C. Zdun and W. Zhang, A general class of iterative equations on the unit circle, Czechoslovak Mathematical Journal, 2007, 57, 809–829.
- [32] W. Zhang, Discussion on the differentiable solutions of the iterated equation $\sum_{i=1}^{n} \lambda_i f^i(x) = F(x)$, Nonlinear Anal., 1990, 15, 387–398.
- [33] W. Zhang, Solutions of equivariance for a polynomial-like iterative equation, Proc. Roy. Soc. Edinburgh Sect. A, 1990, 130, 1153–1163.
- [34] W. Zhang, Stability of the solution of the iterated equation $\sum_{i=1}^{n} \lambda_i f^i(x) = F(x)$, Acta math. Sci., 1988, 8, 421–424.
- [35] Zh. Zhang, Relations between embedding flows and transformation groups of self-mappings on the circle, Acta. Math. Sinica, 1981, 24, 953–957. (in Chinese)
- [36] P. Zhang and X. Gong, Continuous solutions of 3rd-order iterative equation of linear dependence, Advances in Difference Equations, 2014, 2014:318.
- [37] W. Zhang, K. Nikodem and B. Xu, Convex solutions of polynomial-like iterative equations, J. Math. Anal. Appl., 2006, 315, 29–40.
- [38] J. Zhang, L. Yang and W. Zhang, Some advances on functional equation, Adv. Math., 1995, 24, 385–405. (in Chinese)
- [39] W. Zhang and W. Zhang, On continuous slutions of n-th order polynomial-like iterative equations, Publ. Math. Debrecen, 2010, 76/1-2, 117–134.
- [40] L. Zhao, A theorem concerning the existence and uniqueness of solutions of functional equation $\lambda_1 f(x) + \lambda_2 f^2(x) = F(x)$, J. Univ. Sci. Technol. China (Special Iss. Math.), 1983, 32, 21–27. (in Chinese)